


Water at 298 K discharges from a nozzle and travels horizontally, hitting a
flat wall inclined 45° to the vertical. The nozzle has a diameter of 12mm,
and the water leaves the nozzle with a flat velocity profile at a velocity of 6.0
m/s. You may assume that the sliding friction between the fluid and the wall
is negligible. Calculate the vector force on the wall and the amount of fluid
splitting in each direction along the plate.







Steady-State Macroscopic Momentum Balance



















